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QUESTION 1

Which of the following is used to carry the GTP message "T-PDU"?
A. The GTPv1 protocol

B. The GTPv2 protocol

C. The TCP protocol

D. The GTPv1 protocol or the GTPv2 protocol

E. None of the above answers are correct

Correct Answer: A

QUESTION 2

On Alcatel-Lucent 7750 SGW, which of the following statements is FALSE regarding the debugging of a given IMSI?
A. The debugging allows the operator to analyze information and messages related to a given IMSI in real-time.

B. The APN value must be specified in the debug command.

C. The output may be filtered per APN or per reference point.

D. The debugging supports three levels of tracing detail.

E. None of the above statements are false.

Correct Answer: B

QUESTION 3

Which of the following statements most accurately describes the EPS bearers?
A. A UE can have only one default bearer.

B. A UE may have more than one dedicated bearer.

C. Each EPS bearer may provide different QoS treatment for its traffic.

D. EPS bearers that connect a given UE to a single APN use different IP subnets.
E. Only answers A, B and C are correct.

F. Only answers B and C are correct.

Correct Answer: F
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Based on the information shown in the exhibit, how many EPS bearers has the PGW created in total for all UES?

L:PGU# show mobile-gateway pdn bearer-context
Bearer context
INsT APN Bearer Type QCI/ARP HMBR/GHR SDFs
302720123456791 ipd.alcatel 5 Def 9/12 = o
302720123456791 ipd.alcatel 6 Ded 2/2 30000/20000 1
302720123456790 ipd.alcatel 5 Def 9/12 = o
302720123456790 ipd.alcatel 6 Ded 2/2 30000/20000 1
302720123456789 ipd.alcatel 5 Def 9/12 = o
302720123456789 ipd.alcatel 6 Ded 2/2 30000/20000 1

A. 6

B.5

C.4

D.3

E.2

F.1

Correct Answer: A

QUESTION 5

Based on the information shown in the exhibit, which of the following is the MBR/GBR value for Bearer 6 in the DL

direction?
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detail

TA:PEF show ackila-gateway pdn bearar-conbert ims: 2720122456789

EBearer context detail

INST ; BOZT7201Z3456789

Apr 1 odpd_ aleanel-lucsss con

Bearar Id ] Bearsr type
QCIARP - F e ZDhF=

Op Time : Od O0:0L:44

INST 1 0ET201ZI4EETE9

ATH 1 odpd mlesrel-luces eon

Eparar Id B Bearer type
QCI/ARP 1 BfLZ HDF=

Up Tine : 0d 0D:00: 15

SDF ruls nama T Tala-l

SDF pracedenca FaR A ] SDF pht filtexs
SDF QoS UL MBR @ 15000 Heps SDF Qod DL MER
5DF QoS UL GBR  : 10000 Fops EDF QoS DL GER
Filvar did : B Filter direction :
Filrer protocol : udp

Eource address : ADCXD. S 2032

Smurce ports L T

Destination addr ; 5.5 12.56/32

Filver d1d i Filter direction :
Filter protocol ; udp

Source address 1-5.5.12.56/32

Dastination addr : 10.10, & 2732

Destnation ports : 20 - 21

EDF mls nams Tmale-2

SOF pracedenca 20 BDF pkt. filters
S5DF Qo5 UL MER  : 15000 Fops 5DF (oS DL MBER
SDF Qo UL GER 2 10000 Feps EDF Qo8 DL GER
Filoer did S Filter directionm :
Fileer protocol @ udp

Source address - 1010, 6. 2/32

Bource ports 120 = 121

Destination addr | 5.5.12.56/32 )

Filecer id 3 Filter divection :
Filcar protocol udy

Source address :© 5.5.12.558/32

Destinacion addy : 10.10.6 2732

Destnation ports ; 120 - 121

<Output continued in the right windows

: Default
220

: Dedicated
F

HiIR S
: L5000 Feps
¢ 10000 Fops

DL

T 15000 Hops
i 10000 Heps

DL

SDF rule nems T rule-3

EDF precedence @ ID ZDF pht filters 2

SDF QoS UL MBR - 15000 Hbps SDF QoS DL MBR - 15000 Heps
SDF Qus UL GBR : L0000 Fops SDF Qo DL GER  : LOOOO Fops
Fileer id LS Filver directien : DL
Filcar protocol

Source address 0 10.10.6. 2732

Source ports < EP0 = 2P1

Destinetion addr : 5.5.12. 56452

Filver id : B Filtar diveccion @ UL
Filter protocol @ udp

Bourese address 5. 512 5B J3E

Degstination addr ; 10, 10,6 E/32

Desmpation perts @ 220 - 271

IRt 1 3027201Z3455785

AT : dpd.slcarel-lucent  com

Bearar Id SR Bearsr typsa Dedicated
QCI/ AP Lo4r10 ZFs= 1

Up Tima 104 D0:00: 15

285 P Data TEID - Dxd3727 25 23T Daca TEID : O0=4300807
55 POV Data addr : 10.10.7.2

BE SCW Darm sddr ; 10.10.7:1

85 DL packets =g 25 DL bytes ]

BCI UL packecs o SCI UL lwees a

EDF ruls neua ruls—4

Heportivey Lewal + Metering Method <

Eilling Mathod = Flow Stacus =

Service Id o0 Bating Croup o

AF Charging Id @ = ’

BDF precedence 1 100 SDF pht filters : 2

BDF (o8 UL MBER. : LIS000 Hbopa SDF QoS DL MBR  : 15000 Hbeps
EDF Qof UL CER  : 100D0 Fops EDF QoS DL GBR  : LOOOD Fops
Filcer 1d 0 Filter direction : DL
Filter protocol top

Source address = X0 1062432

Bource ports 200

Destination addr : 5.5.12.56/32

Fileer id S Filver direction : UL
Filcer protocol  Top

Source sddress @ 5.5 17 _S5/3Z

Dastination addr ; 10.10.6.2/32

Descpation ports : 200

A. 15000/10000 kbps

B. 30000/20000 kbps

C. 45000/30000 kbps

D. 60000/40000 kbps

E. None of the above answers are correct.

Correct Answer: C
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